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Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her application for Class Representative. According to the
Humanistic Theory of Motivation which need is he trying to fulfil? / T$ 313 9 ﬁ'm q JTIT FA P ﬁ‘l‘l'{ Sf e ﬁ?ﬂ % & 1S mﬁ?/waﬁ PET
WA 999 & Smde & Hag S SFHIRUT & AHadmard! Rigid & SguR, I8 6w srazasdl o IR1 $3 3T SR I 6T 82

1. Esteem Needs / S1 STaRgawdl

2. Self-actualization Needs / 3(Te fIRaWUr Pt STazgesdr
3. Social Needs / STHINSI® TaRdHdT

4. Physiological Needs / foraTaie®s SfTa=adsdr

Correct Answer :-

« Esteem Needs / §8! TaRgadl

2) Which of the following idea about learning process is not implied by the theory given by J. Piaget? / frrafafeaa & #1991 faar &, O™ gry ﬁt{ Ry
Rrgia & R Bt wltea & way & Fifga =& 22

1. Learning is passive assimilation of given knowledge. / S feU U I &1 fAfsng siferar %I

2. Learning is an internal process of construction. / fFTH fufor 3} e sifafke ufsar 81

3. Learning cannot stem from observation or experience alone. /Gfm'ﬂ'q Had 3fadie ar 3qHa I I el 8 Foparl

4. The process of learning makes sense in situations of change only. / 3T &) Ufsbar Faa aRad o fRufod & Trzr & et 81

Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3iferTH fau T 3 &} fAfspy i@ 81

3) Children belonging to same age group and sharing similar social background are known as ./ U Mg it & Tl BT EAT SR [ re
EYf B AT BT F ¥ § ST 1T

1. Play mates / Qe & areft

2. Friends / EE

3. Class mates /‘GIE'Q'I—O'CT

4. Peer Group /WWW

Correct Answer :-

o Peer Group /WWW

4) Low student engagement inside the class could be because of - /| ®&T & Mo o1 Tt FH TeWIfar f$9 FR A & FHdt %—
1. model based learning / ATST STYUTRT SHfITH

2. Cognitive conflicts / TS Ty

3. Interactive sessions / HaTGIH® I

4. the lack of interest / 5T B HH

Correct Answer :-

« the lack of interest / &< & HHT

5) Observation is an example of: / 3aaH BT Th IaTex 0l % :
1. Assessment / 3Th I

2. Evaluation / Jedieh

3. Measurement / HIU-

4. Test / T1&0T



Correct Answer :-

e Assessment / 3Tl

6) A disability present in which of the following? / AT fefaa # | {59 o us srerman Wivig 82
1. All of these / Iuad Tt

2. Continence, dexterity or physical coordination only / Had HTHITH, ﬁrgrn?n, 1 RIS T

3. Speech, hearing or eyesight only / %ae HIYUT, $q0T AT Gl

4. Mobility, perception or memory only / FHad TfaRiierdr, s fﬂ@jﬁf

Correct Answer :-

« All of these / Iuda Taft

7) involves a stimulus which strengthens the probability of the expected response. / T U I AR gt @ i srafér wiafear 5t
HUTTT P 7o Bt 81

1. Negative punishment / TPRIHD qUS
2. Negative reinforcement / THRIHD ‘Eﬁéﬂ:{
3. Positive punishment / YHRIHD qUS

4. Negligence / ATRATG!
Correct Answer :-

« Negative reinforcement / THRIHD g'_ﬁ;?l:[

8) Which approach to teaching does strengthen one’s memory? | Rieor & ﬁ-maﬁmmef@aﬁm fredt 9t Hﬁﬁw
FAT 32

1. Multisensory / @IE?@?(‘T

2. Visual memory / W@jﬁf

3. Tactile memory / RIS Fﬂﬁf
4. Audio-lingual / 3TSI-feFaa

Correct Answer :-

« Multisensory / 9gddg

9) According to Kohlberg level of morality is determined by social norms explicitly or implicitly agreed upon by a group of people. / aﬂ@ﬁ"fa?

TR, At w1 wR wie ads! gRT WE Eu A Fufika g g ar @ & Te wig g1 Wy U S weHd g gl
1. Post-conventional level / TR9-URUR® WX
2. Conterventional level / BTCRARA WiR
3. Pre-conventional level / J3-URUR® WR

4. Conventional level / TRUR® W

Correct Answer :-
« Conventional level / TRUR® WR

10) What is the process by which information is lost from the long term memory due to nonuse? / 98 wforar %, o gr1 Sdefers ?T[ﬁf J ﬂﬁg GCEL
SUIRT 11 & HRUT THIE STl 82

1. Delay / faeia
2. Decay / &4
3. Rehearsal / qafmm

4, Interference / BXI&T

Correct Answer :-

e Decay /&4



11) What does Kohlberg’s theory of development focus on? / ﬁamf F faa o1 g Pa R FR@ e
1. Moral judgement / e fofg

2. Moral behavior / Afde TagR

3. Cognitive judgement / T fofa

4. Judicial behavior / i HAER

Correct Answer :-

e Moral judgement / e fofg

12) What type of model describes development as a passive, predictable response to stimuli? / 5o yoR &1 Aisa vire & o Ta Ao, Gﬁ'ﬁTﬁl’d ufafesar
F FuH R o1 avf R 32

1. Organismic model / i Aisa
2. Mechanistic model / 93ad Alsd
3. Attentional model / 3T AT

4. Descriptive model / uiIES Hrsd

Correct Answer :-

« Mechanistic model / d5ad Algd

13) What does OCD stand for? / 3Rf{Et (OCD) &7 quf &0 71 82
1. Obsessive-Compulsive Design / 3eAfyg-Hrferd fesg

2. Obsessive-Compulsive Disorder / SR FfRIT fETaiisR

3. Obsessive-Cognitive Disorder / 3. Hififed fawsiiex

4. Office of Cognitive Design / ST 1% Hifed fesg

Correct Answer :-

¢ Obsessive-Compulsive Disorder / g -HrfRr fEgsiier

14) Theories of Child Development explains: / 9T¢1 faera ¥ Rygia aftfa swa % f:
1. How children grow and change. / aéﬁaaé IR FEaAd gl

2. How children behave in schools. / /& Fp’_c‘ﬁ T PO TIER B B |

3. How children are educated. / S Rifga s %I

4. How children react to situations. / ﬁ qﬁ@lﬁlﬁ[ 'af ﬁ wfafssar é?r %I

Correct Answer :-

« How children grow and change. /ﬁﬁm 3R W—(}T%I

15) Which famous psychologist first proposed the theory of Insight Learning from his study of chimpanzees? / mmuﬁéﬁm%u@ﬁmﬁm\?ﬁw
3 A M sregg A S siftrm & Riia (a1 &ifs gge @l &Y ufaafea fear?

1. Edward Thorndike / TSdS YHSEH
2. Wolfgang Kohler / AIehilT HigaR
3. Jean Piaget / SiH ot

4. Ian Pavlov / Eﬁﬁmﬂ

Correct Answer :-

« Wolfgang Kohler / BT HIgTR

16) Which of the following is an intelligence test? / fFafafaa # 4 s Th @ THeor %?
1. Locus of Control Test / TN 3HIth FHeld T

2. Sentence Completion Test / amtiuf?ﬂ e

3. Myer-Briggs Type Indicator Questionnaire / T for T8y Wahad yyaat

4. Binet-Kamat Test / fo-e-@ma uteror



Correct Answer :-

« Binet-Kamat Test / fome-smaa gdteror

17) Which of the following is not a type of reasoning? / et o ¥ S=-ar TP UPR $T adb T2
1. Syllogistic reasoning / SUCRIHRY T (ﬁlﬁfm ﬁﬁiﬁﬂ)

2. Deductive reasoning | e ad (feefaea A=)

3. Transference reasoning / S=IRIGU] GE2

4. Transductive reasoning / URdlfH® dh (Trasfaea e

Correct Answer :-

« Transference reasoning / 3FIRIIUT GE2

18) Which of the following is not a gateway drug? / Frafafaa # @ S9-an Th Aeq S Hﬁ%”
1. Alcohol / RRTF

2. Tobacco / T‘W@

3. Marijuana / Inﬁq&ﬂm

4. Cocaine / HIHH

Correct Answer :-

« Cocaine / PIHI

19) Which of the following is not the focal point in the process of teaching? / Frafafea 9 @ s mwaﬁmﬁ%p—;ﬁgqﬁ%v
1. Pupil / B

2. Content / AU

3. Teaching method / fRi&ror fafer

4, Teacher / e/

Correct Answer :-

« Teaching method / fRrefor fafer

20) Which one of the following is the symptom of ADHD? / fFrafeifad # @ #1971 vSiv=< &1 aerm g2
1. Boredom / SGIHT

2. Stuttering / gP AT

3. Hypersensitivity/ SfforddeT=itaan

4. Hyperactivity / 3ifa afohaar

Correct Answer :-

o Hyperactivity / ifa afohaar

21) Vygotsky’s Theory of Language is based on learning theory. / AR Bt HUTHT BT Rigid 3finH & Rygia W snuTRa 31
1. Behaviorist /WI—QP[

2. Cognitive / GTIHD

3. Constructivist / FF-TATE!

4. Emotional / HTd-THD

Correct Answer :-

« Constructivist / TaTATE!

22) is one of the many ways through which culture affects develop t./ Téaﬁaﬁﬁﬁw LRG| % oras wam d m, ICcankal
T Fet 81

1. Religion / ef

2. Context / Ggaf



3. Language / HIHT
4. Environment / I3

Correct Answer :-
o Language / HTHT

23) is studied under Personality and Social Development. / BT AT AfRied MR JTATS AP & Sieria fpar
EiciE]]

1. Egocentric behavior / TGS AR
2. Memory process / Sfdl Ufeha
3. Perceptual acuity / AURUTEE &GO

4. Premature birth / 9T Tﬂ‘ oH

Correct Answer :-

« Egocentric behavior / SHTHD ST HTER

24) The purpose of scientific investigative learning in education is: / fRreq ﬁ'aﬁlﬂeﬁ?\_ﬁﬁl WWG%!W% :
1. To encourage collaborative work / geantt Eapikal e @3 & g

2. To complete the curriculum content / UTGUshH Riepical Ul BAD ]%I'Q

3. To build scientific literacy / W IRl hT EEEGIED %I'Q

4. To provide hands-on experience in class / P& o yge 3fHd Yo P & o

Correct Answer :-

« To build scientific literacy / aﬁTﬁﬁ IRl b1 EEUETGIED 1%111

25) Outlining the expectations from the students will enhance their learnability. This task becomes part of : / BT & &3 B [T B A I SHRFTH FY
&rrar ¥ gfg gnft1 o ol e o1 i s ST &:

1. Summative assessment / SRIfRIA THTT
2. Assessment of learning / 31TRTH T THe
3. Assessment as learning / 3{fTH & T H TdHaA

4. Assessment for learning / W%%’Q NICANE]

Correct Answer :-
o Assessment for learning / W%m 3The

26) When social values and beliefs are deliberately changed in an individual, it is known as . / SIS AT w SR Tt ﬂﬁﬂﬁw it
wfe § uRafda w2 fRarsmar g, @ 5@ & H ST e 8 1

1. Secondary Socialization / fgcTae® THTGIHROT

2. Primary Socialization /WWWUT

3. Anticipatory Socialization / TR TSR0
4. Re-socialization / G: - THTSIHROT

Correct Answer :-

» Re-socialization / G: - THTSIHROT

27) “Practice makes man perfect” can be example for which law of Thorndike? / “3¥TH A Ea| qﬁ'qpfm % " m F fea frau & m
IETERVT & WP a1 32

1. Law of exercise / 3% &1 fAaH
2. None of the above / STRIGd & I Eﬁﬁ :lﬁ
3. Law of readiness / TURdI &1 FaH

4. Law of effect / THTd T fAoH

Correct Answer :-

« Law of exercise / 3119 &7 fAgH



28) “The Hierarchy Theory of Motivation” is a theory proposed by: / «QRUTT T SPH frgiar W@'RT uferarfea faar war:
1. Abraham Harold Maslow / 3fSTGH gRIcs TRl

2. Le Semyonovich Vygotsky | o REifag It

3.B.F. Skinner/aﬁ.w. PR

4. Jean William Fritz Piaget / ST faferaw flrest forams

Correct Answer :-

o Abraham Harold Maslow / 3§ITgH %ﬁ@' ATEd

29) CANCELLED

Which of Marcia’s types of identity status is characterized by a crisis leading to commitment? / TG & {5 yoR Ft yga F UMY F 3T M ERT
g ST @ R wfaasar ot 22

1. Identity achievement / UgdT- SUAIdT
2. Identity moratorium / Tga SR
3. Identity diffusion / UgdT YR

4. Identity foreclosure / UgdI PISIeR

Correct Answer :-
o Identity achievement / Ugdl- SUASIdT

30) What is called education acquired without any specific purpose, fixed period and place? /Wﬁﬁwa%m, i3 eraftr oiv = & fomr
Sifrfea fRrem &Y o1 w1 wrar 82

1. Formal Education. / 30T R
2. Informal Education / 3F0=TRes fR1em
3. Indirect evaluation / Y& Heich1
4. Individual Education / SfeRRTd fRi&f

Correct Answer :-

« Informal Education / 3rIT=iRe fRrem

Topic:- General English(L1GE)

1) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

According to the passage, which one of the following statements is true?
1. The dog is the only pilot of the plane.

2. The dog doesn't know the way, so it follows the owner's instructions.

3. The dog decides where the owner is going.

4. The dog knows the way, so the owner just follows.

Correct Answer :-

« The dog doesn't know the way, so it follows the owner's instructions.

2) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt sorry for
the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler approached her
and asked her why she was weeping. "Both my sons are equal, but my husband wishes to leave everything to one and nothing to the other,” she said.



The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and the younger nothing. Then
they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he learned a trade. The elder son lived at
home and learned nothing, knowing that someday he would be rich. When the father died, the elder son who did not know how to do anything, spent
all his inheritance, whereas the younger, who had learned to trade, became rich.

Read this sentence from the story. The mother felt sorry for the younger son, and asked him not to tell the boys of his intention.
Which word means about the same as “intention”?

1. Regret

2. Plan

3. Reason

4. Hope

Correct Answer :-

« Plan

3) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

What happens when the owner gives the command 'forward' at a crossing?
1. If there is traffic coming from the other side the dog waits.

2. If there is danger the dog crosses the road.

3. The dog waits for the next command.

4. The dog moves forward.

Correct Answer :-

« If there is traffic coming from the other side the dog waits.

4) Read the following passage and answer the question that follows:

Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach the
kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner must
decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the command
'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The owner can't see
obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get from one place to
another, and the dog is the pilot who gets them there safely.

What do you mean by selective disobedience?

1. Knowing never to obey to disobey the owner.
2. Knowing when to disobey the owner.

3. Knowing when to obey and disobey the owner.

4. Knowing when to obey the owner.

Correct Answer :-

« Knowing when to obey and disobey the owner.

5) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler



approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

Which word best describes how the mother feels after hearing her husband’s decision?
1. Shocked
2. Helpless
3. Cautious

4. Uncertain

Correct Answer :-
« Helpless

6) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler
approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

Which of the following statements best describes the theme of the story?

1. Learning how to earn money is better than having money given to you.

2. Inheriting money brings bad luck.

3. Some people have to work hard for success; others have success handed to them.
4. Siblings should learn to get along with one another.

Correct Answer :-

« Learning how to earn money is better than having money given to you.

7) Read the following passage and answer the question that follows:

A certain merchant had two sons. The elder son was his favorite, and he intended to leave all his wealth to him when he died. The mother felt
sorry for the younger son, and asked him not to tell the boys of his intention. One day the mother was sitting at the window weeping. A traveler
approached her and asked her why she was weeping. “Both my sons are equal, but my husband wishes to leave everything to one and nothing to
the other,” she said. The traveler said to her, “There is help for your trouble. Tell your sons that the elder will receive the entire inheritance, and
the younger nothing. Then they will be equal.” The younger son, on learning that he would inherit nothing, went to another land, where he
learned a trade. The elder son lived at home and learned nothing, knowing that someday he would be rich. When the father died, the elder son
who did not know how to do anything, spent all his inheritance, whereas the younger, who had learned to trade, became rich.

The merchant believes that in comparison to his elder son, his younger son was
1. untrustworthy

2. irresponsible

3. less important

4. less intelligent

Correct Answer :-

« less important

8) Read the following passage and answer the question that follows:



Selective disobedience, the most amazing thing about guide dogs: they know when to obey and when to disobey to keep their owner safe. Selective
disobedience is extremely important at road crossings, where the owner and dog must work very closely together to cross safely. When they reach
the kerb, the dog stops and signals to the owner that they have reached a crossing. Dogs cannot recognize the colour of traffic lights, so the owner
must decide when it is safe cross the road. The owner listens to the sound of traffic to judge when the light has changed and then gives the
command 'forward'. If there is no danger, the dog crosses the road. If there are cars coming, the dog waits unless they pass and then crosses. The
owner can't see obstacles so the guide must help the owner to avoid them. The owner is like the navigator on an aircraft who knows how to get
from one place to another, and the dog is the pilot who gets them there safely.

According to the passage, the dog owner is:
1. A blind person

2. A sick person

3. A deaf person

4. A navigator

Correct Answer :-

« A blind person

9) Fill in the blank with the correct option in the given sentence:
When we call a grown man a boy, we are using a -- nomer.

1. dis --

2. mis --

3. astro--

4. mal --

Correct Answer :-

10) Fill in the blanks with the correct option in the given sentence:
The kind-- shown by the townspeople cannot be forgot-- very easily.

1. --est ... --ten

2. --ness ... --ten

3. --ship ... --en

4. --er ... —-ing

Correct Answer :-

e --ness... --ten

11) Which of the following options best combines the given sentences?

This coin is copper. The copper is cheap in quality.
1. This coin, which is copper, is a copper, cheap in quality.
2. This coin, of copper, is cheap in quality.

3. The copper used in this coin is of cheap quality.

4. This copper coin is a copper of cheap in quality.

Correct Answer :-

« The copper used in this coin is of cheap quality.

12) Choose appropriate articles for the given sentence:
___longest journey begins with ____single step.
1.The..a

2. The ... No article required

3. A..the



4. No article required ... the

Correct Answer :-

e The..a

13) Choose appropriate article for the given sentence:
__ Africa is the most linguistically diverse continent in the world.
1. No article

2. The

3.A

4. An

Correct Answer :-
« No article

14) Choose the appropriate determiner for the given sentence.

I liked the film, but not the songs were good.
1. all

2. few

3. much

4. some

Correct Answer :-

o all

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The Spanish conquered many other cultures.

1. Many other cultures were conquered by the Spanish.

2. Many other culture were conquered by Spanish.

3. Many other cultures conquered the Spanish.

4. Many others culture was conquered by the Spanish.

Correct Answer :-

« Many other cultures were conquered by the Spanish.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:
He said, "I have no liking for any kind of cosmetics.”

1. He said that he have no liking for any kind of cosmetic.

2. He said that he had no liking for any kind of cosmetics.

3. He said that | have no liking for any kind of cosmetics.

4. He said that I had no liking for any kind of cosmetics.

Correct Answer :-

« He said that he had no liking for any kind of cosmetics.

17) Choose the appropriate tenses to fill in the blanks in the given sentence:

Ramesh singing every day, but he to perform well yesterday in the concert.

1. practises, failed
2. practised, has failed

3. practised, failed



4. has practised, had failed

Correct Answer :-
« practises, failed

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Sailors from Europe introduced new foods to Americans.
1. Initiated

2. Concealed

3. Overlooked

4. Departed

Correct Answer :-

« Concealed

19) Choose the appropriate conjunction for the given sentence.

Please wait in the classroom the teacher comes.
1. till

2. than

3.as

4. since

Correct Answer :-

o il

20) Choose the appropriate synonym for the highlighted word in the given sentence.
The colony has been deprived even of the basic amenities provided by the government.
1. Equipment

2. Rights

3. Responsibilities

4. Facilities

Correct Answer :-

« Facilities

21) Choose the appropriate prepositions for the given sentence:

The architectisworking ___aplan____ a new train station.

1. for...on

2. with ... in

3. on ... for

4. against ... with

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

Simran have become a great dancer but she quit practicing early on.
1. should
2. can

3. will



4. could

Correct Answer :-
« could

23) Choose the option that best explains the highlighted expression:
She refused to wear hand-me-downs.

1. wear inexpensive clothes

2. cloths used by someone

3. wear only branded stuff

4. wear clothes out of a box

Correct Answer :-

« cloths used by someone

24) Choose the most suitable pronoun for the given sentence:
Let the class divide ____into four groups.

1. themselves

2. ourselves

3. itself

4. us

Correct Answer :-

o itself

25) Choose the right tag:

Tomorrow instead of going to Pondicherry with my boss I am going to Chennai,

?
1. don’t |

2. amn’t|

3. won'tl

4. aren’t |

Correct Answer :-

e aren’tl

26) Choose the appropriate tense to fill in the blank in the given sentence:

Mrs. Kiran this city a month ago.
1. will leave

2. leave

3. leaves

4. left

Correct Answer :-

o left

27) Choose the option that substitutes the given phrase appropriately.
Highest point of a mountain

1. Nadir



2. Summit
3. Upmost

4. Top

Correct Answer :-
e Summit

28) Choose the right tag:

She always starts from home at 9 o'clock, ?
1. isn't she

2.is she

3. does she

4. doesn't she

Correct Answer :-

« doesn't she

29) Rewrite the following changing the active sentence to passive.

The main skills that analysts seek to develop include analysing, interpreting and evaluating data.

1. The main skills include analysing, interpreting and evaluating data which are sought by analysts to develop.
2. The main skills that analysts are seeking to be developed include analysing, interpreting and evaluating data.
3. The main skills sought by analysts to developing includes analysing, interpreting and evaluating data.

4. The main skills sought to be developed by analysts include analysing, interpreting and evaluating data.
Correct Answer :-

« The main skills sought to be developed by analysts include analysing, interpreting and evaluating data.

30) Read the sentence carefully and choose the option that has an error in it:

When I approached the entrance, I saw that they had went ahead.
1. | saw that

2. they had went ahead.

3. When | approached the entrance,

4. No error

Correct Answer :-

« they had went ahead.

Topic:- General Sanskrit(L2GS)

1)

HeIecl Tafdd () caraedioh: sreraenrer: 3ed-
| JSTIGRr oY

g gl
RELECE IR

Gel guIior



Correct Answer :-

AT guifor

geirehl afdear srifafésce 9eaTed el Faad -

HZATHFAHAT: IT2 ANeT FooleAarH: |
3TEAAHA GHI AT JAT A g7

AT ds§ ATdATAHG I&IFIAVT: |
ToaAlcdl 748 $ATsedoAldeaHa asad i

“geaTEIANd:” 3fd Jery ai-ufdwae: 31fed-

, &+ d:
| FET+3TFIRAVA:
| FEATFIRT+SYC:
, T+ ATFIAN:

Correct Answer :-

| TEITTA+37AY:



T=oe Ifecar g2aEd ﬂaqagcdi g -

AN TPl FRT feedr ey depasms | agaroft, e,
veychiel 3T AT | 3T T faeaed UrRied AR SR IRevad |
SEIfd Fdar Urdiel: Ao kade: e | AU AEpaAvRIA va faead
| TRTCIeIIST TTSIRMATI: 3cUoadl, 3TUSIRISST UThd#NTd: T HEHIHNI:
3cUeAT | YRAUT HRART: FaT 3T JHTEfAFT: 9T TEHISIIIAT: ATl
HaIT [eicar Sliafea | a@dar faeer, Paseer, WaEAy, savusc-
AT A TEPAHNT | U FAIUEFToAT FEpaaeddl sl 3Hear A11ed
HER | 3T AR WIRcAATT Glaere, Weeeld, A-faeeuend O
HARET | de-SEAV-HRUTS-3UTANE- NS Gele-hlcd-5ATCeh-Uehichl- g -hall-
ﬂTﬂT—Fr%F\’IanH-wT&dchwlQll«-:l-aﬂ‘rallhi-aimgﬂa- foTaemE - favemEs-
THfd-geffd-ceraredear: fdeara: 3idld dfhar: 37e7ae, | HEpde™ T
ARAET  §E&pd:, JRAMcHANET  AWGEd, URERE g8
UhETRIUTHIS | T: HEPAAN & Uofd & UAEAd USRI
afd: safad | Redl 36T A TSCHYT | I: HEHAA AT
feeCreeT faelverar Argaeld, aa: fewdl T Hal=ty e ienr, ereare
HERA-HATST-USTTNIG, Vg I[E0Tid |

F#3dG: 5AF T Al Ed-

Correct Answer :-

. STecadi:



eelient dfscar srfaféser vemea gedea Faaa -

ATYHFAAAT: 1S 1T TooleHGH: |
3TEIH AT AT JAT AT T |l

AT ds§ FAAIHG TEIETAVNT: |
Toallcal 8 SAlsedoAlacaAa sad i

qrel: A HFIHAT: FATGTd 3TR:-

2.

ﬂzéﬁl

, AR

Correct Answer :-

3



TRToe gfecar 92Ty QAﬁd;I’rrli gaad -

W&ﬁﬁ%ﬂmmmlﬁﬁﬁﬂz ﬂ@H:WﬁGﬁﬁ@H
AFANT | AFAIET FATOT Udfed: A=IT T #afd | dRAHA
AhAAAT ¥ aRed T &ifd | 7 aRed 3ar segareuaAfd &
Wﬂﬁ@&ﬂﬁ: Iqﬁmﬁﬂé@ﬁﬁﬁz, H‘c‘l@:@ﬁﬂﬁr: Gﬁ—ﬁﬁﬁ‘eﬁﬂ:,
gaFeredifsal dafd AAa: | &8 WH AcIAEAT: AARNRGICATE HorRIfed,
foheq & AW weafdgsiald AARYANCT | 3d TaE AfdeR:- “Segaad
Heeafed $EOT 7 #RY: | 7 geae Heea gidefea g€ 7am” |
3edA foh o dredd ? 99 aUseIqartae: ELUIE CCRE T |
HhAIAATIRITS ed UTiulel: | ¥l Ife &Y, dieiaud, Serds I 2T
el 4 fagufd, &4 WH AIAE 3¢ vq fassfd & q&g g=gufta:
gerAE ' ? AfAuRE@via sEever: §HE  4d Fedied,
FFIeored sfafed | Affoe swfiemeammic s sisaaerts
HIEvIfed | Jo1ed a9y oo dlel SeTdied | 3GTHAgan: o] vd
fad  ddcwhrel  gumdifsar  Sllad Ielfed | 3GIRTRITCTRSTET:
WA Alged | S IR0 [dUcd SaATEIHAET 3HfOr
R |

ST AT WAYEA>Gd:, HG:WidUeal:, HIIHAGIA: -

5 TR
Correct Answer :-

. IRsEge:

Y gt aREder Regarsdst W 5
3fFa: feaiucerey AfEAA dea Teda-

qesa

2

geeat

3.



. IEECIE

Correct Answer :-

.ﬁaaTafr

" ATERYBIUT Yehreleh: faAheT TTATEd-

| T 3R FOORMET

§  RIERRICEI]
) CIEGE] ﬁmym——aﬁ
, ¢ Iromafd emE

Correct Answer :-

. fe srogfa e

) . .
URToe Iocar 925 YEHAH FIId -

HATOT ﬁ%ﬂm EareATiaehr | Tﬂﬁﬁ'ﬁﬂﬂ: Eil?:lgGr: &TUTATY Gﬁﬁ?;[ ol
AFANT | AFAIET FATOT Udfed: A=IT T #Hafd | dRAHAT
TEATTERHAT § IRSH T ®Ifd | o IR T Haeledd ™
Wﬂﬁ@&ﬂﬁ: I Qﬁ’ﬂﬂaﬂ}f%ﬂéﬂlﬂaﬁﬁ, Gﬂg:@ﬁqmz Gﬁ—&ﬂﬂ'ﬁﬁﬂ:,
gagoredifsdr s1afd #Aldg: | &d IWH FATAE: AARERacA dorafed,
fhrq o AW wefesiald AARYART | 3T TAE AfdPR:- “Segded
feeafea RO 7 #[RY: | A geaeg Heea videfea q@ 7om” |
3cTHA foh o Tredd ? A9 aUseAGATAA: 3eaea HAY
HBTATATIRITS ed UTTole: | ¥l Ife &S], dieiaud, Serds I 21
Flel o fagunfd, &8 WH FA«IAE ¢ U9 fassfa & avg u=gurtd:
geAE B 7 AfAuRE@Avld sEeder: §HE 49l Fedied,
TFIeoA1ed safead | Ao seftereaemca fad siieaderts
HIEUTod | Y129 aug W Al Hedied | 3GIHAgIAT: Wiivleied vd
A  ddchlel  gumdifear  Silad Ielfed | 3GIRRITCTSTAT:
TEEACd Alged | S J Iphor U SaAvesIAET 340
R |

AT Fer sioaderei= TIEvTed?



9)

TReSe afScar Iy YA I -

AN TPl H fecar ey depasms | agaroft, e,
veychel 3rEm: ATA | 3T T faeaed Ui Ay s qRevad |
SEIfd Haar rdiel: Peor: kada: ATEd | AU AEpaHRA vq fagad
| TEoCIeITST TTSIRIATI: 3cUoadl, USRS UThdHANTd: T HEDIHIA:
3ceaAl | YO HRCART: FaT 3T HTfAFT: $T9T: TEHATIIAT: ATl
Teanor IEicar Siafed | @aar favrer, fAgAeer, wWAAL, savhes-
AT ITET TERAHNT | U FAIUEFTooAT TEpaaeddl sl Hear A11ed
HER | 3EIT: AR WifecaAT Giaerd, Geeed, A-faed e O
&S | dE-SEAV-ANUTh-3UTNE- TS Geiel-ehlcd-HATCeh-Uehlehl-TF-ehall-
ﬂTilT—Fr%FJ%l|+a|—<4fadch<4|Qll+:|—3{2‘ra||+a|-311'e;oﬂ'a- o T-c A faTemEs-
wfa-vsifa-derardean: fagar: 3rda afeear: 3@ | GEpAA TG
ARAET  ®Ehd:, RANCHARET AR, URERE  §8garRn: o
UehEIeP{UTHTEASIAT | T: HERASST o USTd & UAEHAN ATHASUSTRI
afad: safad | Redr 36T 3EATS TSCHYT | I: TEHA A=A
feceremmi faelvear qaeld, ad: fowdr ar Fa=f aenfiee erear
TEHd-HTIT-HIUSHINIG, UG I[N |

ﬂm Uch: Ic2l: ﬁ.{—qu\ ATTed-

TEA
2. i



W
4.
Correct Answer :-

e SR

10)
geitehl afecar srifAfesesr T qgdceR Faad -
HASATUT gAY Fiedeadia e |
TJaaA Bgear sieaeAr afca docad: |l
AAIseTel I @ Fal gievd o |
HEPR ST H Hean: gepfatsesn |
HEAY HISATN Hidd Taed Idd |

1.

T

, eIty

, Je

Correct Answer :-



T=oe Ifecar g2aEd ﬂaqagcdi g -

AN TPl FRT feedr ey depasms | agaroft, e,
veychiel 3T AT | 3T T faeaed UrRied AR SR IRevad |
SEIfd Fdar Urdiel: Ao kade: e | AU AEpaAvRIA va faead
| TRTCIeIIST TTSIRMATI: 3cUoadl, 3TUSIRISST UThd#NTd: T HEHIHNI:
3cUeAT | YRAUT HRART: FaT 3T JHTEfAFT: 9T TEHISIIIAT: ATl
HaIT [eicar Sliafea | a@dar faeer, Paseer, WaEAy, savusc-
AT A TEPAHNT | U FAIUEFToAT FEpaaeddl sl 3Hear A11ed
HER | 3T AR WIRcAATT Glaere, Weeeld, A-faeeuend O
HET | de-SEAV-ANUTh-3UTNE- TS Giel-hlcd-HATCeh-Uehlehl- T -ehall-
ﬂTﬂT—Fr%F\’IanH-wT&dchwlQll«-:l-aﬂ‘rallhi-aimgﬂa- foTaemE - favemEs-
THfd-geffd-ceraredear: fdeara: 3idld dfhar: 37e7ae, | HEpde™ T
ARAET  §E&pd:, JRAMcHANET  AWGEd, URERE g8
UhETRIUTHIS | T: HEPAAN & Uofd & UAEAd USRI
afd: safad | Redl 36T A TSCHYT | I: HEHAA AT
feeCreeT faelverar Argaeld, aa: fewdl T Hal=ty e ienr, ereare
HERA-HATST-USTTNIG, Vg I[E0Tid |

ReFcearmst god ug foad -
TRy TEpar _ feear afiaiorsrdr |

, A9

3.

4.

Correct Answer :-



TRTSC IfScar Iy AgAH FII -

AN TPl FRT feedr ey depasms | agaroft, e,
veychiel 3rE: SAMA | 3T AT faeaed UrRied AR SR qRevad |
SEIfd Fdar Urdiel: Ao kade: e | AU AEpaAvRIA va faead
| TRTCIeIIST TTSIRMATI: 3cUoadl, 3TUSIRISST UThd#NTd: T HEHIHNI:
3ceaAT | RO HRCART: FaT 3T HTEfAFT: 19T SEHITIT: ATl
HaIT [eicar Sliafea | a@dar faeer, Paseer, WaEAy, savusc-
AT A TEPAHNT | U FAIUEFToAT FEpaaeddl sl 3Hear A11ed
HER | 3T ANRIT: WIRcAAT Glaere, Weeeld, A-faeeuend O
HET | de-SEAV-ANUTh-3UTNE- TS Giel-hlcd-HATCeh-Uehlehl- T -ehall-
ﬂTﬂT—Fr%F\’IanH-wT&dchwlQll«-:l-aﬂ‘rallhi-aimgﬂa- foTaemE - favemEs-
THfd-geffd-ceraredear: fdeara: 3idld dfhar: 37e7ae, | HEpde™ T
ARAET  §E&pd:, JRAMcHANET  AWGEd, URERE g8
UhETRIUTHIS | T: HEPAANT o USfd & UAEAT USRI
afd: safad | Redl 36T A TSCHYT | I: HEHAA AT
feeCreeT faelverar Argaeld, aa: fewdl T Hal=ty e ienr, ereare
HERI-HATST-#USTETNIG, Vg I[E0nid |

ST [l UTdiel: Je: ATAEd-

13)




gaieht afdear reifafesee geaded el Faad -

HIATEFIHAT: 1 AT Fole AT |
3TEUTH FHI AT JAT AT TTgL |

AT ds§ TTdATeI(dHe J&IFIAvT: |
oaledl o8 AIsedoAldeaH ST |

. AUAT

Correct Answer :-



URToe Iocdr 928 Q;ﬁagmi qaad -

HATT UgfcadAlTasd FTATAR | HHAEA: Hefol: &UATT Siidd o
AFAIT | HAIGET FATOT Ugfca: HRLIT TT Hafd | dARAHA
ThATIAT F IR3H T &g | F IReA G aaregad s
g & | el B adgude:, @agEidue: wa-derae;,
gadolerIfear dafa ATa: | &9 WH ATATAT: AAERAIATE Horafed,
fhrq o aw weafgsiafd AARPART | 3d TaE AfdeR:- “Tegded
Reeafea FrIOr 7 #ERY: | A grae Feea wlderfca @ 7am |
A fob o Oedd ? @9 FAseIIATIA: 3eaNReT HAY
HhodATERTS ed UTfolel: | vl Ife &d0], dieaudd, Serds I 21
Frer o fagenfd, &8 WA A«GAE ¢ vq fdvofd & d&7 ueava:
JANTHRT T ?  AQURAATIT  &FRYe: HAE U Fodied,
HFUeAIe" safed | Odiferer splenfeaeAiac dica sieauerais
HIEUTed | Y99 a9y WA dle] Hedied | 3GHAEIAT: WIioleied Ud
[ dHdchred  aUMfSAn  Siad eiled | SedNTRiTeTRsTE:
e Aleed | SR J TERU UT SaHTTSIAET 3O
R |

FIgEat>ad: scaey fIagarsad 5¢ safa-
oY S
, g S
;, FgY I

FIgEH afsaa:

4.

Correct Answer :-

. ﬂé’ﬂ@': =g



el gfsear sreifAféserr geae gedeal qaad -

HAISIIOT gAY Fivdeddia T |
IJaarATT [Berar wieaear afca decad: |l

SARAYsaTel arg: @ HAl gied I |
3EPN AT A A gepfalsesr |

IAdATT BETAT T AT docdd: dicd-

AT

, dled:
3. Q -
. HIsf o1

Correct Answer :-

_ iR

7 “HPAET IASANH FegTocll FRARUCHE 37T

FeeduGHEd-
| afAsant®
_ FuTHT



geiTeht Ufdear rifAfetee Yeaed YeHcel Faad -

HTATEFIHAT: 1 AT F>ole e |
3TEIIHA FHI AT JAT AT TTI |l

AT ds§ AAAITHG F&IAFTAVT: |
Toallcal o8 SAIsedeATacaHaIsad i

“AEITE” 3fd U¢ 3T o 31REd-

U e s qees YEHR FIA -
HASATOT HEUY Hivdeddia [Fed |
TaaAY e wiedgeAr dfcd decad:
AAIseTel I @ Hal gred o |
HEPR $dId H [Hea: gepfatsesn |
fArafai@ay f& 9g adasiagr 3ea?

Z.E:IFI-:

Correct Answer :-

E



21)




TRToe g9fecar 925y %I)ﬁtl}rd*i gaad -

HATOT ﬁﬁlﬂﬁﬂm EaTATIGehT | Eﬁﬁﬁﬁﬂz HF:IDGT: &TOTHIY Gﬁﬁ?ﬁ-g[ ol
YFAT | AGET FAO! Ydfcd: FRLAT TF ofafqd | AfeA-HATr
THEAATEEAT & aRsd T &I | o aRed faar FraareuaA s
Wﬂﬁ@ &g | URHFESEAr @ Qzl_ca'\g@fiﬁﬁz, H‘c‘l@:@ﬁ'ﬂﬁr: Td-dsTagre:,
HaFodIfEaY Hafa AFG: | &4 WH AIHAE: AARRAAT furgfad,
fohrg & AW weafdgsiald AARYANT | 3 TaE AfdPR:- “Segaead
eeafed $EOT 7 #RY: | A geaea Hgea gidefea 7@ 7am” |
3edAd foh o dredd ? §d aUseIqartae: ELUIE GO |
ThAdATERIES e WIole: | $¥h IS &30, dieausd, STerdes o 2T
Flel 4 fAeufd, ¢4 WH FA=aAE ¢ vq fassfd & oy u=autd:
gANHE ' ? AAufEAvid sEever: §HE ol Fedied,
FFIeored sfafed | o sefiemeammca e sieaoerets
HIEvlfed | Jo199 a9y oo dlel edied | 3eaAgian: o] vd
fa  ddhcwrel  gumdifsar  Sliad Feifed | 3GARTRNCERSHT:
TEEAcAd Aleed | S IR0l [dUcd STATEIHAET 3O
R |

9y 57 313 FuTy: Agga-

1 Id
N s =

UeT=
3. -

4, 3T
Correct Answer :-

L EsE A



2@t gfdear sreifafdscer 9eared YeHcek Fuad -

HASATOT HEHY Hieeeddia Fed |
TaarAT A s¥gear afcd decaa: |l

HANTIsT ;@ HAl Jredd 7 |
HEHR AT H Hoetl: gepfaseer ||

eelent dfdcar srfaféser veed gede Faua -

AISIIOT HEAY HiRgeadia e |
JadAT BEAT ST AT dfcd docdd: I

ATl arg: @ HeAl gievd T |
3EPR ST A fAeam: gpfatsesn |

H Tdad e gpfa: s1afa-
L od

3scdr

2.

Al
s T°C

Correct Answer :-



25)

9eiTht Uidear sreifafdees Yeaed YeHcel Faad -

HTATEFAAAT: T AT F>ole AT |
3TEIH GHI AT JAT AL T |l

AT dsg aAATHG I&AETAVT: |
oallcdl o SAIsTaTAlTIH ST I

$& ATcdl I AedoaAlded o 3aiersdd-

a¢; f& T IoifAda” sfa 3ReA-, e Ffaerairds-

T
AT

2.

Tager
3. 2

Wm

4

Correct Answer :-
SChl



Correct Answer :-

28)

U=ae ufdcar ueaed ﬂagagcdi gad -

AN TEpT ALY feear AMdoemdr aepasmst | cgaroft, sfiao,
veychifel 3R A | T AT favaed urieaaAy sy aREuad |
ST |@aar urEe: I FIag: Aed | AT FEpdsmma va fagad
| TReCTeST TTSIRATI: 3cTeedl, TSRS UThIHNI: T HEHIHINI:
3T | YAUT R FaT 3T 3MEIfAeT: s TThasTIAT: ATl
HEHIOT Il Shafea | & fagrer, Fasasr, o, aavsmeH-
AT T AEHAHNT | T AU oAl TEpaely 86T 3121 A1
TEAR | 38T ST AIfecTAfy Jiaeel, FHeAd, -G I
AT | dE-FEAV-3RUTS-3UTANE- NS Geie-ahled-FATCeh-Uehichl- T -hall-
AT &AM - T TP elTIEA-HARMEA-3TYAG- I OTRIEA-S AN AT -
THfd-geffd-geraredear: faeama: 3idid dAfehar: 37e7Es, | GEhds™ T
ARG H&hd:, JMANcHSHET  AEd, YRERE  #@0a™r: 9
USRI UTEATIASIT | T: TP o USTd H UAEHAIA ATTHIUSEINI
afga: #afad | Redr 3cTa IHEATS TSCHTT | T: HESAHT AT &
feecrenmi faelvear Aq#Held, ad: foedr s Fd=f arienfiee erear
TP d-HT-HIUSEINIG, U9 I[E0MTd |

HEPAATIAT: AT 3¢ Aledeidid-

e

4

Correct Answer :-

. TEA



URToe Iiocar T2Eg Qéﬁagcd{ qaad -

HATOT qq%mﬁaaw EareATiaehr | Eﬁﬁﬁﬁﬂ: FF:IDGTI &TOTATY Gﬁﬁ@ o
AFAIT | AGET FATOr ygfcT: AReAT Tq oafad | afeAwwaAfor
TEATTERTAT F IRSH T dIfd | o IR T mRITeqd T Fd
Wﬂﬁ?j qH: | IRHFEGEAr @ Fﬂ'ﬁ@ﬁﬁ?—f:, Hﬂg:m: ﬁ—ﬁﬂﬂﬁﬂ:,
aForedifzaYy afa AG: | &9 WH ACIART: AARNRGA forafed,
fohrq o aw weaf@gsiald AARUART | 3 TaE AfdeR:- “Fegaead
feeafea #rIOr 7 #ERY: | A geaea Feea glderfca g@ 7am” |
3cdAA foh of @edd ? @9 aAseAATAA: 3eaea HAY
HhAIdATERTS ed UTiulel: | vl Ife &edv], dieiaud, Serds I 21
Flel o1 fagenfd, & WH FA=UAE ¢ U9 fassfa Fd a7 u=aurtd:
gapFed ' 7 AfquReAdls fEeder: @d€ ued Fedled,
HFUeAIe" Hdfed | e spiHeeE@AiacT dita Aleauerais
HIEvTed | Y199 a9y W dlel eTdied | 3ETHARIT: TIioleied vd
[  dhewre  gumdifsan:  Sllad Felfed | BE:a’DTQﬁﬂTQEI‘alT
WA Aleed | S J ol foucd SaAqesIAET 340
R |

HATAEIT: HeJol: Toh o] o IRATA?
,, S
| eoRy ShRIge
;, T
e o
Correct Answer :-

| aorATY Shfaga

30) CANCELLED

“TIEIAT: give:” 3fd eefed: T 3ed-



Correct Answer :-

HETHAN dH

-~

Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually required or in other words a segment of the population not
employed at full capacity is known as ./ U R wrgi st 1oy & T 1w ofirent Y e aRaa § sraxa® & Siftre gt § O g weal o
SRR BT U e o Ot et uR oy # SiET o R, 39 % T T ST oTar g1

1. Involuntary unemployment / TSP RIS
2. Voluntary unemployment / ﬁ'm ERENIR

3. Structural unemployment / TR SRISATIRY
4. Disguised unemployment / =39 EREHIR

Correct Answer :-

« Disguised unemployment / U=9d SRISATR

2) Who believed that learning should be ‘the realization of one's full potential and the ability to use those skills for the greater good'? / frae®r A=A Ut
o arftrmy, fredt &5t Ot et 3R Sif¥rer | it S & T 3 PN BT IUUNT B Bt & i Wifer g1 =g

1. Dr. Y. K. Singh /S an‘% ®. ﬁl’s’
2. John Dewey / Elg| §§

3. John V. Michaela / S &t et
4. Charles Beard / 9TcY {908

Correct Answer :-

« John Dewey / Gl'ﬁ@??

3) BPL stands for . | Srfiwe &1 faga =u Bl
1. Base Poverty Line /éﬂuﬁﬁa '&‘q

2. Base Price Line /aﬂmé?[ [y 5‘3
3. Below Poverty Line / ENRIEEE 5‘3
4. Below Poverty Level / ﬁa‘mﬁ’a‘fé&a

Correct Answer :-

« Below Poverty Line / IENRICEES éq

4) Which among the following is the main industry of the MENA region of the World? / fraffea & @ o9 a1 fay & a4r (EH’{'G‘E) PEkD T IATE?
1. Tourism & Hospitality / qifed 3R anfa

2. Mines and Minerals / 9T 3R @t

3. Petroleum / a'ﬁﬁ%mn

4. Manufacturing / fafafor

Correct Answer :-

« Petroleum / ﬁefﬁ%ﬂm



Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| AFAfaf@a gy ddt w1 3% Fafaat @ Ao w3

1. emgde aifaar | A aFerEdr

2. 9ET3EI STRTAT | B. HIELT
3. {EgHAC TIg=ar C. feredh
4. AT A D. gglarar

2

1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C,4-D
4. 1-C,2-D,3-A,4-B
Correct Answer :-
« 1-C2-D,3-A4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East Coast. Which among the following is a correct order of
the ports of India coming on the way? / T% WgTel HRd & TR de W Bisdl d4uie A Tdf 9¢ WR SladTdl d4e & g sru=i amn 3= oear 81 FHafafaa o
A B TR F 317 a1 URA P YT SGTEl BT TP e A 82

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / HTSE;, ﬁ?ﬁ:{, qxﬁaﬂﬁ?, Q'T>i 3, URIET

2. Mumbai, Mormugao, Cochin, Ennore, Chennai /Has‘, Wﬁ, ﬁ?ﬂq, Q’}i 3, aﬂé

3. Mumbeai, Tuticorin, Ennore, Chennai, Vishakhapatnam /Ha_'é:, ‘{cﬂﬁﬁ‘—{, Q:?i 3, aﬁ’s‘, ICRUCIERRE

4. Chennai, Vishakhapatnam, Haldia, Paradip /aﬁ_g’, ﬁmﬂ'ﬁ, E%TIT, UR E‘: g

Correct Answer :-

« Mumbai, Cochin, Tuticorin, Ennore, Paradip /Hﬁ'&:, ﬁ%ﬁq, qd ® 3, Q'?i Y, UR i

7) In the sea, plants are restricted up to the depth of . / W% ¥, Tieif P} TgTE, o ufaafia g1
1. 1000 meters / 1000 Hew

2. 200 meters / 200 Hiex

3. 20 meters / 20 ez

4. 2000 meters / 2000 Hex

Correct Answer :-
« 200 meters / 200 Hiex

8) The gold coins of Vijayanagara empire was not called as / fasraTR TTTST F 99 & Ryae! By qg qﬁw SITdT T &
1. Hon/a:f

2. Varaha / dRgI

3. Gadyana / ORI

4. Niska / 1



Correct Answer :-

« Niska / AT

9) When did the National Food Security Bill introduced in India? / HIR® ® 1819 @Tel Y& fadae wa yega far war
1. 22" December 2011 / 22 fa&&R 2011

2. 22" December 2012 / 22 f&HaR 2012

3. 22" December 2014 / 22 T3sR 2014

4. 227 December 2013 / 22 f&¥aR 2013

Correct Answer :-

« 220 December 2011 / 22 f&aR 2011

10) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his materials (pupils) according to his ideals (objectives) in
his studio (school)”?

1 fpaa w1 o uTeuaal T HeTeR (i) & g1y § Hive 98 g § fored a7 avm it (e # o sl Sz ¥ gaR
3ot Il (frenfiay) @) era 9@

1. Munroe / Eﬁﬁ

2. Arthur Cunningham / 3T R piam
3. Robert Dahl / J1&¢ S8

4. H. L. Laswell / Ud. Td. KIBGER]

Correct Answer :-

 Arthur Cunningham / 3T R piam

11) Who described the role of Prime Minister as ‘the linchpin of Government’? / frae et &5 '&[ﬁa?raﬁ IRPR Dt ferafT (ﬁaﬁ
Hid) qqTan

1. Jawaharlal Nehru / STaTeR A1 "8 ®

2. Alladi Krishnaswamy Iyer / ST m AR
3. Dr. Rajendra Prasad / 31 o uTe

4. Sardar Vallabhai Patel / SRGR JEIHTE Ued

Correct Answer :-

« Jawaharlal Nehru / SIdTgR T 91623

12) Only two Asian countries are in 1GW country club of Geothermal Installed capacity. Which are those Countries? / Fad a’rqﬁmr{ CR| Y-
AT SRR & & 1GW W TG R §1 I P A F?

1. Malaysia and Singapore / TR 3R RIqR

2. Indonesia and Philippines / SR 3R fopefidia
3. Laos and Cambodia / 37T 3R ralifear

4. Tndia and China / HRd 3R 7

Correct Answer :-

« Indonesia and Philippines / SSHRT 3R freithi

13) Committee referred to criminalization of politics hinting at close nexus that has come to prevail between the politicians and the

criminals. / ______ WIAf A Ao & srRTeha<or 1 R R, 5t Aareit ok i1l & dia ufery wey & 9 oma 21
1. Santhanam / GYH

2.N.N. Vohra / T. T, A1

3. Shri K. V. Chowdary / 4t &. g, Thest

4. Shri Sharad Kumar / 9} IRE $HAR



Correct Answer :-

« N.N. Vohra / T. T, m

14) are societies which offer credit facilities for a short term to the farmers. / q JHTS % SN fra &1 Sreurafy & "%IT\’
HU1 gAY ger= Fa §

1. Programme for Agricultural Credit Supply (PACS) /?fﬁf BT e«rrql%f%ﬁmam‘w @Q?ﬂ@)
2. Private Agricultural Credit Societies (PACS) /ﬁGﬂ W Ira gitfaat (dTQ'Fﬁ'Q?D

3. Primary Agricultural Credit Societies (PACS) /Wm ?f@( Irg giffaat (dTQ?ﬁQ’FD

4. Personal Agricultural Credit System (PACS) /aﬂ%ﬂaﬁwwn?ﬁ (dTQ'Fﬁ'Q?D

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) /QTH&TG? W grg afafaat (m@)

15) is a writ issued to restrain a person from acting in a public office to which he /she is not entitled. / et aafea w139

AP Praterd & B $3 @ A5 & g o e mar wrdw (Re) @ R a6 st T8 81
1. Mandamus / TRHTGRT

2. Quo warranto / 3TIHR Gasl

3. Certiorari / 3&ITUT

4. Prohibition / UfcISY

Correct Answer :-

« Quo warranto / AHfIBR e

16) Howard Gardner proposed: / BlaTs MR A ywanfad faar ot
1. Theory of multiple intelligence / a‘g’@@m &1 Rrgid

2. Two-factor theory / PR i

3. Multi-factor theory / §g-PRE frgta

4. Group factor theory / W PR Rigid

Correct Answer :-

« Theory of multiple intelligence / a‘g’-@@w P Rigid

17) A social science teacher is expected to be an epitome of democratic virtues. Which among the following is a democratic virtue? / qraTRTS

fasm & Rigre & Awdaife oI ST vde ar=T rar 8 | Fafif@a & &« ue aedite qure?
1. Students have the liberty of attending the class at any time / faenfial ) foseft oft g e o IRy BF ) WaFar 81
2. Distribution of questions among the students / fenfial & usit &1 faaron

3. Accepts and invites differences of opinion from the students in a positive way / HPRIHD =Y Y faenffat § Aavel & WeR Hdl § SR smHa
FRAT B

4. Maintaining strict discipline in the classroom / P&l 2R3 rCs | SR 1Y XTI

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / HHRIHD =Y Y faenfiat § Aavel & WeR Hdl § SR smHa
FRAT B

18) The major demerit of lecture method is: / TTRSAT fafdr &1 Uqq 3{qIqor &

1. It is a time consuming process / g Uh JHY A areft ufepan %I

2. It reduces the attention span / dg ST 3afy HH B ol %I

3. It encourages learning through divergent thinking / I8 faafera ficm & AT 9 SifRTH &1 Tiened Bl % |
4. It discourages self-effort by the student / g ST gRT TH-YITH CARGISIIESERG %I

Correct Answer :-



« It discourages self-effort by the student / I8 ST GRT HTH-UITH P galcled Hdl gl

19) The purpose of punishment is to decrease the frequency of behaviour. / HGIT BT 3%'581 _ gdgR Eal 3ﬂ§ﬁl B FH BT %I
1. learned / 31RATRAA

2. undesirable / ATBAT

3. positive / HHRTHD

4. desirable / ST

Correct Answer :-

« undesirable / 3TST

20) The is indeed the foundation of socialization because it is the first contact of the child. / g # GHSIeR Bt g %,

HifP a5 el 9= o1 ugen Yus FaT 3|
1. neighbors / U_Eﬁ?ﬂ

2. family / IRAR

3. peer group / ﬁﬁﬂtﬁf

4. environment / GOTGROT

Correct Answer :-

« family / GRAR

21) The Constitution has fixed of the total membership as quorum for both Lok Sabha and Rajya Sabha. / TRIY A AUt 3

ASTEHT ST & e PrdfaTe weT (@) S Fud paveEa e MufRafeard
1. half / 38T

2. one-tenth / Teh-Gd|

3. one-fourth / Th-ANYUTS

4, one-third / Th-fagTS

Correct Answer :-

« one-tenth / Uoh-GHd|

22) Group activities are the cardinal exercises in collaborative learning, which are aimed to: / T¥{g forarean '\"'ITII%?T Rreror & ST ™ %,

et Sz fr @

1. Boost pride among the students / faenffat o smrefayma gl

2. Reduce the burden of the teachers in their instructional style / ﬁT&ﬁ’ﬁ a'T @31 ﬁ G:ﬁ'ﬂ ﬁ%m’@lﬂa ﬁ?ﬁ ff HH DA
3. Make the classroom active and participatory in nature / P ET 3l qu—l%f o g 3R H’E’ﬂ-ﬂ"ﬁ EEIGI

4. Generate synergy among the members of the group / HHg & ISl & Sd draad S

Correct Answer :-

« Generate synergy among the members of the group / JHg & ol & S draad S

23) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? /Bt vaadfa g 9.3 . AgTeniea & ﬁt—m A HR
CARIERI

1. Second / ﬁ?ﬂu
2. Fourth / TRt

3. Third / 1

4, First / UYH

Correct Answer :-

e Second/ @T‘ﬂ'q



24) Which of the following is commonly used to record the informal teacher observation regarding students in and outside the classroom? /

T ITANT AHTRIG: F& F Siew IR areR el & fawa & srtvaRe g saaie Rets $33 & g e wmar @2
1. Cumulative record / G} RIS

2. Checklist / STa-gt

3. Rating scale / 79 FAuRoT a9

4. Anecdotal record / SUREHIH® Rabis

Correct Answer :-

« Anecdotal record / SURHMIHS Reblg

25) Which among the following is typically used to display all kinds of creative works of students in the classroom? / P&lT o faenffay & waft

TPR & TIATHS ST B YGRid $31 & ferg Frafafea & 9 fewe suah fafke wu & far srar g2
1. Flannel board / BTl S1S

2. Black board / JEHIT §1S

3. Peg board / T &S

4. Bulletin board / §afe S8

Correct Answer :-

« Bulletin board / @ﬁﬁ? EIE]

26) Where do Nyaya Panchayats prevail? / <T0 T Fet wefera &
1. District / forem

2. Village / Titq

3. Block /G_Q'IVW

4. Corporation / e

Correct Answer :-

« Village /Tﬁa

27) How can a social science teacher effectively and experientially transact the concept of sustainable development among students? / Teh

T fagr Rieres faemfial & gad e @t R & guTd 3R SgUaTHS & A $ &Y H TPl 82

1. Conducting brainstorming session on sustainable development / ddd e m (a:mﬁ&fﬂ) T e #x|

2. Showing a movie on environmental preservation / THTaRUT TREUT TR U fOhe foramav |

3. Undertaking a field trip with the students to an ecological hotspot / faenfifa & Ty T Ui gicic W Ue &5 I 1 S AR |
4. Delivering a lecture on sustainable development / Hdd ™ R AR <

Correct Answer :-

« Undertaking a field trip with the students to an ecological hotspot / faenfal & Ty ves uRfufdeiy glewle R U &5 I &1 SIid das |

28) How many types of urban local governments currently exist in India? / HRd o gdaE § fhra TR 3 wed W e %?

1.6
2.7
3.3

4.8

Correct Answer :-

29) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following subsidiary banks of SBI ceased to exist? / 2017 * é_c"aaf

(FRE ok T=MeF) fRdus & AR Tadiens & Fuflfd diver vere 96t & @ 19 919 g1 wIam?
1. State Bank of Karnataka / R 3P 3 HricHd

2. State Bank of Punjab /%< d 3t Uee



3. State Bank of Meghalaya /X< 3@ 3P Aurad
4. State Bank of Travancore /@_cr S 3T AGUHR

Correct Answer :-

« State Bank of Travancore /@T‘.’ %$ ke W

30) What does Pir mean in Sufi tradition? / W TWURT & FR &1 71 31 grar 82
1. Supreme being / UXHTHT

2. Greatest of the Sufi saints / FET)DT SRR CER

3. None / aﬁ'{' Tﬁﬁ

4. Spiritual Guide or Elder / 3TEd® ANicRich AT ol

Correct Answer :-

« Spiritual Guide or Elder / STEf@I® Trfexfie @ w

31) What is not true about Raja Ram Mohan Roy? / TSI ITH Tﬁ?:l IS IR A | q'ﬁa"f%"
1. He abolished sati system. / 3819 Tt W1 1 T b

2. He founded Banaras Hindu University. /G@ﬁ IR %gﬁ%ﬁwﬁwmﬁl

3. He founded Brahmo Samaj. / G@ﬁ EREEISE B RITIT BT

4. He was an advocate. / dg Udh CCARRY|

Correct Answer :-

« He founded Banaras Hindu University. / 3%; [ §IRY %ﬁﬁm & RITYAT B

32) What is true about Simon Commission r dation? / YTSHA UM & RGIRT $ IR A I 22

1. Abolition of Sati / it TT &T I

2. Abolition of legislature at Centre / &% H faenie &1 I=@-
3. Abolition of Child marriage / STdT fadTg &1 =@

4. Abolition of Diarchy / Y A BT S

Correct Answer :-

« Abolition of Diarchy / 4 T $T 3@

33) Bhakti cult was spread in Maharashtra with the teachingsof ./ & SUS= A Ul 4y HERTY B Far
1. Tukaram / PRH

2. Jyaneshwar / FIEECH

3. Ramdas / JTHG™H

4. Chaitanya / IJqg

Correct Answer :-

 Tukaram / JPRH

34) Quantitative restrictions imposed on imports to encourage domestic production are known as i ‘Eﬁqa?cna:r P WeTed H %?ﬁnz STaTd
R TN T ATATHS Ufaae i F FUHA FET AR

1. Tariffs / UR[eh

2. Subsidy / SR (Hfeqa))
3. Quotas / PIeT

4. Embargo / SR Hfdey

Correct Answer :-

* Quotas / BIeT

35) First five plan was based upon which popular economic model? /meﬁq Qo1 fore A snfdfe Aise wR snuriya &



1. Lewis Model / Qéﬂrlv'l@ﬂ
2. Mahalanobis Model / ﬂgm s
3. Cobb-Douglas Model /ﬁﬂ-@ g Hisd

4. Harrod-Domar Model / %? S-SR Alsd

Correct Answer :-
e Harrod-Domar Model / %? S-SR Algd

36) Which Sufi saint propagated that devotional music was essential for being closer to God? / & QIU& Ta A vaR fear % uﬁrwﬁa, YA & B
TR F g smazas &2

1. Saikh Muinnuddin Chisti / 28 HISJg - forelt
2. Shekh Alam Bukhari / ¥R Wm
3. Syed Muhammad / WW

4. Kwaja Fariddudin / &dTell B agé B

Correct Answer :-

« Kwaja Fariddudin / ATl m@ﬁ:{

37) Which were the two cave paintings of Gupta Period? / &l BTA P Gl Wﬁa’aﬁﬂ I
1. Ajanta and Bagh / 3fSidl 3R §T9

2. Ajanta and Ellora / 3fSidT 37R TART

3. Lomas Rishi cave and Bagh / it EEWTI'F[ 3R 919

4. Ellora and Bagh / UaRT 3R &9

Correct Answer :-

« Ajanta and Bagh / 3fSidT 3R &9

38) Which Women leader represented India in Second Round Table Conference? /e Iﬂ%’?ﬂ Jar ﬁ?‘ﬁq Th'?l'a'\?f wﬂ?r-r - HRd &1 yfafifiea fear
1. Sarojini Naidu / TRIFSHT Arg

2. Aruna Asaf Ali / 3fUTT 3t 3feit

3. Kamala Devi Chattopadhyaya / &HdT 4t ?I@'QT%HTG

4. Vijaya Laxmi Pandit / faoran @ert dfga

Correct Answer :-

« Sarojini Naidu / RIS TG

39) Ryotwari System was first introduced by Thomas Munro in . /W TIRT T tl?ﬁ Jier) 'ﬁqﬁ GRT_ I = Ed| 11'§ Rifl
1. Bengal Presidency / sTe SRS

2. Bombay Presidency / S DS

3. Madras Presidency and Bombay Presidency both / T Ut oiR ST iR St
4. Madras Presidency / H&T DSt

Correct Answer :-

o Madras Presidency / Ha™I TS

40) Who won the ‘third battle of Panipat*? / ‘UT-1Ud @1 =T gz’ foreA sftar?
1. Hem Chandra Vikramaditya / 89 Ti% fawmmiea

2. Sher Shah Suri / 2R M8 G

3. Ahmad Shah Durrani / ${gHg 218 It

4. Ibrahim Lodhi / gsfew et

Correct Answer :-

« Ahmad Shah Durrani / 389G T8 gRit



41) Who was the founder of Tuluva Dynasty? /WW F ARITTS B A2
1. Deva Raya I/ TR W

2. Virupaksha 11 / faune fgdta

3. Tirumala Raya / foema g

4. Tuluva Narasanayaka / AT TRIATIRT

Correct Answer :-

e Tuluva Narasanayaka / ¢l TREATART

42) Who was not the prominent literary figure during Babur’s time? / P IR S I T e AIRADR &1 U1?
1. Khusrau / W

2. Mulla Shihab / IS TTES

3. Sheikh Zainuddin / TG ST

4, Khwandamir / SIFEHR

Correct Answer :-

e Khusrau / Eﬂff

43) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? / ¥V e ﬁw CRIEECIED aTF'T P9 T 3RS
= BaEan

1. Vaisheshikas / SRITRIBTT
2. Ajivikas / SffoTfamTE

3. Nyaya / <19

4. Nityavadi / Fcgrard

Correct Answer :-

« Ajivikas / SfTfdH™

44) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as Balkan countries. The term Balkan is derived
from the following landforms? / 3[eaTi=aT, SIRAAT 3R FOMTA=, gomivan, HeRmr, W, AVSIHar enfe i arew 1N & =Y § FHT o1dT 8 | ITed
Treg fafafEa y-snpfaat & & fra form man g2

1. A Lake / U Sl
2. A Sca / U Y%
3. A Mountain / T Tdd
4. A River / U !

Correct Answer :-

« A Mountain / T Tdd

45) Which of the following is a pull factor for Migration to the place of Destination? / Frafafea & ¥ S 91 Tider &M W yaRH & ﬁl’({ Td gt Thaew (@iﬁ
FTPRF) 3?2

1. Unemployment / SRISATRY

2. Peace and stability / =i 3R fRRar

3. Political Turmoil / ISHA® gaad

4. Poor Standard of Living / PR Sia TR

Correct Answer :-

« Peace and stability / il 3R R

46) The nature of social science is best represented: / YT Y I YA P FARA TP A exiarsman 2|
1. As a unified subject / T Qﬁ@_d o s wud

2. As an independent subject / Tdh W fa & =u i

3. As a dependent subject / Th Rk fowms wud



4. As not a correlated subject / U Tgddx AT & ¥4 T g

Correct Answer :-

« As a unified subject / U UabIdhd a0 & &9 §

47) “To monitor daily performance and to encourage students to reflect on their own learning.” This is the purpose of: / e ue=iF BT

fArfteror BT 3R frenfal &Y g # Rign & ywe B F R Miened w11 a8 A S13eRg 8:
1. Diagnostic assessment / FeIfe e

2. Anecdotal records / SURSATIED RapTia

3. Non-referenced assessment / 3TEGd 3BT

4. Portfolio assessment / T WIerdl ST

Correct Answer :-

« Portfolio assessment / GICTHITCIAT 3THET

48) Sedimentary rock change to metamorphic rock because of which of the following process? / 3/aQTdl IgH, Braraia agrHl & Fafaf@a & @
5 wfthan & wrRur uRkafdd gt st 82

1. Re Crystallization / GAToh e elihR0T

2. Uplift Weather and Erosion / S&{TH TR 3R 3IRe
3. Fusion / fd@@
4. Burial-Heat and Pressure / G-d1d 3R g

Correct Answer :-

« Burial-Heat and Pressure / 1-TT 3R gTd

49) Which among the following is not an ideal teaching skill for a social science teacher? / fafaf@addsn T qrToe fagm fRies F
forg w et Rrgor Hizra A8 32

1. Optimal movement in the classroom while teaching / Rremr & ?ﬁ?T:f DET ] ELGE] |

2. Eye to eye contact with all the students /it faenffat & |y ofa § SfRa Hudh ST

3. Stimulus variation while lecturing / ST PR TET I T

4. Maintaining strict and rigid discipline in the classroom | e H T 3R HAR SR §41¢ QT

Correct Answer :-

« Maintaining strict and rigid discipline in the classroom / P& W AR BBR SR 941 QT

50) Which among the following is not a type of assignment in the strictest sense? Fafafad ¥ e= ﬁ'ﬂ?s{ 3yt o TUh YhR DT Wﬁ
T 32

1. Curricular assignment / TTGAR THIGRM

2. Remedial assignment / STARTH® THIGRM

3. Revision assignment / G-TCIRa THIGRIM

4. Preparatory assignment / RS ﬂ’qﬂm

Correct Answer :-

« Preparatory assignment / TRMA® ﬂﬂaﬁ'ﬂq

51) Globe is a classic example for: /T UDPT YD P ¥ 3qleul %;
1. Projected aid / UToiepCS HTE

2. Audio visual aid / SIS fagare Are

3. Graphic aid / ITfthes TTLH

4. 3D aid / 3D 914

Correct Answer :-



« 3D aid /3D {IYq
52) CANCELLED

Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some original functions and some agency functions? /

TR BT B AT 3D Ug W HIaT ¢ [ Tarad I GRS & $3 ga 31 3R $2 St (wolwdh) orf &2
1.243-E / 243%

2.243-G / 2435t

3.243-F / 243-T%

4.243-0 / 243-3f1

Correct Answer :-

. 243-G /24350

53) CANCELLED

Who among the following influenced the development of Project method?/ ﬁl’ﬂ'ﬁf@ﬂ' A foram ufegtern Wﬁ & faer ®) gurfaa fran
1. Socrates / PRI

2. John Dewey / i feat

3. Pestalozzi / URTAT!

4. Comenius / PIAFATY

Correct Answer :-

« John Dewey / S f&at

54) CANCELLED

The Foreign Direct Investment was increased from during the implementation of New Economic Policy in 1991. / 1991 # 78 anfif® ifd &
P & SR Te faeeh faw eT foar war un

1. 50% to 70% / 50% T 70%

2. 40% to 51% / 40% ¥ 51%
3. 30% to 40% / 30% & 40%
4.30% to 39% / 30% 9 39%

Correct Answer :-

o 40% to 51% / 40% T 51%

55) In an ecotone, the species which become abundant are called? / T® TepfeT Gﬂﬂﬂq) 'ﬁ, 3 yenfaat e 7T siftre ﬁﬂ'l'cﬁ%, G%WGHHT
L

1. Edge species / U yorfoat

2. Keystone species / SR yeffaar
3. Endemic species / Ui yenfaat
4. Foster species / IR Fetfadt

Correct Answer :-

« Edge species / s yonfoat

56) Which one of the following is slow downhill movement of debris? / = ﬁ'@ﬂﬁ?'\‘ﬁ@ 3raRy Pt efift srefvmedt wfey %?
1. Creep /19

2. Earthflow / HaIvdlg

3. Landslide / Y&

4. Mudflow / GhYarg

Correct Answer :-



57) Which of the following country is the largest producer of Uranium? / fafafaad a Akl a’S«’T '{}'ﬁ'ﬂq BT I 931 TGP %?
1. Kazakhstan / SelRIw

2. Canada / TSI

3. Australia / m

4. USA / iad IT9 3ARa®T

Correct Answer :-

« Kazakhstan / BRI

58) Which day is celebrated as Earth Day? / 53 f&7 &1 qedi faaw & =0 & w=mar wrar 82
1. 22nd March / 22 T

2. 5th June / 5 5[

3. 16th September / 16 RidaR

4.22nd April / 22 30

Correct Answer :-

« 22nd April / 22 3@

59) When was the Gandhi-Irwin Pact signed? / Tith-33fa= Tw=id TR P9 gxaaR far mar ur?
1. 1931

2.1929

3.1935

4. 1932

Correct Answer :-
« 1931

60) Per Capita Income =

Jufa =afea ema =

Income

1 Employment rate

S

AR &R

National Income

Population

TP 3

STHEAT

2.

Taxable asset
3 Population
IR A Fufd
ST
Population
4. National Incote

SRS

X Q g 31
Correct Answer :-

National Income

Population






